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POLITICAL SCIENCE

PAPER - 11
Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.
1.  Which one of the following statements is not correct in case of Kautilya ? .
(1) He was the first to make political economy an independent subject. .rx
(2) He propounded a theory of politics which dealt with immediate practical concerns of

polity.
(8) He is credited with being the founder of nitisastra tradition.

L

r

(4)  For the first time he emphasised the need for a strong poﬁticafﬁ.control in India.

’ A
2. Who among the following said that the Repulqﬁc p1ctures a utopia not because it is a romance
but because plato intended it to be the start of a sc1enB ic attack upon the “idea of the good” ?

(1) G.H. Sabine (2) Dunning ?arker (4) Ebenstein

3.  Who among the following said that tnorder of tlme{ state is latter than the family or the
individual, but in order of natuxe, pﬁor to them ?

(1) Cephalus (2) Tluiasymachus (3)  Aristotle (4) Lacophon

4.  For Locke which of t'Ii)e following is not true in case of social contract ?
(1
2)

)  Contract, once frladej is irrevocable
( Contract to which each generation must not consent
(3) Contract in,which men give up some of the rights they possessed in the state of nature
(4) Contract daoes not put an end to the Law of Nature
5.  ForRousseau w.hich one of the following is not true ?
(1) For man’s self-love, which satisfies his real needs, is only too apt to become pride.

) ':" Pride becomes incompatible with sympathy.

4) Pride does not seduce reason.

poozss | IR

(2
(3) From pride all evil has grown.
4)
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6. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : For J.S. Mill will is the basis of all institutions including the state.

Reason (R) : Will is not only dependent on number, it has a qualitative foundation and
the Will which makes the institutions takes on the form of a belief.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A). ¢

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). { £
(3) (A) is true, but (R) is false. | [
(4) (A) is false, but (R) is true. . ¢

i
- - L

{
7.  Match the List - I (Sources) and List - II (Ideas) which influenced Gandhi and select the

correct answer from the code given below : |

List - I L}gt uy
(Source) (Major ide .
(@) Jainism (i) Catholicity of ogtlhookﬁ
(b) Vaishnavism (ii)i' “Contempt fof industrial civilization and ideas on
-« ﬁ_{ passive resistance
() Ruskin and Tolstoy _h I (i) Idealism and concern for moral values
(d) Plato (iv) Emphasis on Non-violence
Code : !i' -
@ ®(© @
1), @ @@y d @)
,(2) @) @) @) (i)
OO ,ﬁv) 6
#) @) @ ) 6

8. Who among the following had started two weeklies, the Karmayogin and the

Dharma ?
(1) Mahatma Gandhi (2) Aurobindo
(3) Ranade (4) Tilak
poczss [ THANHLANAN ‘ Fapec
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9. Given below are two statements, one labelled as Assertion (A) and other as Reason (R) :
Select the correct answer from the code given below :
Assertion (A) : M.N. Roy did not accept Marx’s materialistic interpretation of history.
Reason (R) : It had an element of determinism and idealism.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). | .
(3) (A) is true, but (R) is false. -.r‘; )
(4) (A) is false, but (R) is true. [ r
10. Who among the following said in the context of States Reorganisation-Commission
Report : “The Lambs are shorn of the wool” and “They are feeling the intensity of
cold” ? ' 5
-
(1) J. Nehru (2) B.R. Ambedkar 1(5')( B.N. Rau (4) K.T. Shah
f/ f
| ¥
11.  Which of the following statements is not correct ?
(1) Traditional political theory is prescriptive and nbrmative.
(2) Behavioural political theory co%cerned with unj‘fofrﬁjtiés and regularities.
(3) Post-behavioural political theot'y is tied to action and relevancy.
(4) Post-behavioural politicakl Ehe‘bry is not holistic.
12.  Which one of the following contentions of Isaiah Berlin is not true in the context of resurgence
of political theory (p(%litical philosophy) ?
(1)  Politics exists in a sdciety where ends collide. In a liberal order political theory can
never see its end.
(2) = The respomsibility for causing decline of political theory should be laid on rank empiricists
who have displaced classical tradition.
(3) Political theory shall continue to exist as a result of the inquisitive and rational inquiry
of man. |
(4) . He is sheptical about the resurgence of political theory (philosophy).
|
|
13.  Who among the following conceived society as a “Cooperative venture for mutual advantage’,
more or less self-sufficient, and necessarily governed by rules ?
(1) Robert Nozick (2)  Friedrich Hayek
(3) John Rawls (4) Karl Marx
poczss [ THANHLANAN 6 Fapec
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14. Who among the following has written the article “The Zigzag of Politics” ?
(1) John Rawls (2) H.A. Hayek (3) R. Nozick (4) J. Habermas

15. Who among the following is not a proponent of commuritarianism ?

(1) Alasdair Maclntyre (2) Michael Sandel
(3) Michael Walzer (4) Friedrich Hayek  a
4
{
16. Which of the following are the features of democracy ? { [

(a) Democracy requires political equality.
(b)  Allcitizens must be entitled to stand for election regardless pf raee, sex, COfOlll‘ or religion.

s " |i

(c)  All citizens must possess a vote (universal adult franchise).

(d) Political equality means ‘one person one.-‘vote, one \note one value’.
Select the correct answer from the code g1vqn belo

(1) (a) and (c) W‘ fﬁ

() (a), (b) and () e (4) (a)( éc}and’()

e

A

-
17. Match the List - I with List - I‘I Jarﬂ-:l select the correct answer from the code given below :
List - I - List - II

(Authors) . (Books)
g

(a) Brian Berry ° ( (i)  Justice
(b) Susan Mgller Okin (i) Idea of Justice
(c) Amart};a . Sen (iii) Justice, Gender and Family
{ (d) Tom Cam}:?ell (iv) The Liberal Theory of Justice
Code
@ ) |© @
(1)1 @v) () /@) (@)
QW) @& @ @)
€) (1’11) (iv) (i) (i)
4) (i)  (if)
poczss 1] HII\I\I ; Fapec
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18.

19.

20.

Which of the following are features of Marx’s theory of surplus value ?

(a) Itis an extension of Ricardo’s theory.

(b) Labour power equals the brain, muscle and nerve of the labourer.

(c)  The value of every commodity is not proportional to the quantity or labour contained
in it.

(d) The worker must be paid a price proportional to the number of Labour hours that
entered into its production.

Select the correct answer from the code given below :

(1) (a) and (b) (2) (b) and (d) {
(3) (@), (b) and (d) (4) (@), (b), () and (d) | [
Which of the following are Lenin’s contribution to Marxist théory 7. g

(a) His theory of the party as ‘the vanguard of the proletarfat’ which guides the masses
both before and after the revolution. -

(b) His theory or capitalist imperialism, whi¢h he held to constitute the intermediary stage
of capitalism. / \ {

| ¥

(c) His version for the reconstruction of the work{s first proletarian state.
(d) His theory of the strategy and tactics of revolutign.
Select the correct answer from the code given below : e ¢

@) (@) and Y@ @) ©dna @
() (@), (b) and (© W wmemae
i

Which one of the following is not a feature of ideology ?
(1) A political beliéf system

(2) An action-oriented set of political ideas
(3) The world view of a particular social class or social group
(4) - The politigal ideas that do not embody or articulate class or social interests

a
Who among the fiﬂovl\'fing described comparative politics as primarily concerned with “parties,

- interests and leadership structure” ?
(1) . Gabriel Almond (2) Sigmund Neuman
(3) Roy C. Macridis and Ward (4) M.G. Smith
II'.
22, Wh6_; was the author of the book “The Presidential Republic” ?
(1) ]zzan Blondel (2) Dorothy Pickles
(3) Walter Bagehot (4) E.H. Carr
poczss [ THANHLANAN 1 Fapec
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23. Given below are two statements, one labelled as Assertion (A) and other labelled as Reason
(R). Choose the correct answer from the code :

Assertion (A) : Systems approach to comparative politics believes in the balance between
the input structure and the output structure to maintain the equilibrium.

Reason (R) : Systems approach is criticised as a ‘status quoist” model.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false. {
(4) (A) is false, but (R) is true.

Ty

v

24. Arrange the interest groups as given by Gabriel Almond in se(-]*uential order {

(a) Institutional groups (b) Non-agsociational grmips
(c) Associational groups (d) ,-‘ nomic g;oups

Code :

1) © ®) @), @ @ | @, )‘ (b)

3) ®) @ @ © @' @ @ 45? (b)

25.  Which of the following pairs is not (i;'ri‘ectly matched ?

- .
9 .

(1) Chartist Movement - Demand for Manhood suffrage in England
2 Philadelphia Convention A Declaration of independence and signing of the

P p grng

Constitution in US.

(3) Mayflower Compact - Abolition of Slavery in US.
(4) 1832 Reform Akt ( - Changes in the electoral system of Britain.

26. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : Many Afro-Asian nations emerged independent after World War II.

Reason (R) :  /Absence of economic developmental largely tended to make their
| independence more formal than substantive.

Code : |

(1), Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

poozss | IR 5
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23.

24.

25.

26.

T 3R (A) 3R ek (R) % &9 § < gaed fou 7w €1 fou 7¢ e § 9 WE S| g

AR (A) :  ToIHH TSI o Faed & fagia § Smar s @ o foau s | ik
e W= & He Hde A R B

& (R) : faeen % fagia =t e Juryd fefa-ww fest & &9 & =t 9t 2

(1) (A)aﬂuR 2 W@ € &R (R), (A)ﬁwﬁwé|

(2) (A) 3R (R) I WE € g (R), (A) Tt WEl = & €| :
G) (@) ﬂ%‘r%%(n T ¥ P
4) (A) T © fog (R) W2 S f r

meﬁaﬁaﬁaw@ﬁwﬁmﬁ%aﬁm

freferfan & & F- 7 gt ER f

(1) = sk «- ) eire ¥ i wa e A

(2) Trerefewen afema VA - g T oifR § oS < son SR e w
BEIER fehan ST

(3) TSR g - 9gH T SRR H A e

(4) 1832 % R SRR - fr i et womel & Wi

o TRt (A) 31X ek (R) % &9 § < geed feg 7w €1 = feu 70 e # € Wt s g

/ At (A) : 7 TG o U9 SIgd § SThish! TS T2 Tofe=t 81 7Y |

e (R) : BTTeieh TorehTe =i B o TR0l SehT Tl ATk B o ST SAfereh Skl
Fenl SR HeR B |

3 |

(1) (A) 3R (R) T T E 3R (R), (A) F T o=

(2) ¥ (A) 3R (R) T w1 € foheq (R), (A) 1 W& =me 7 &1

(3) (A ) Tl § foheg (R) o R |

4) (A) 7@ © fohg (R) TR 2
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27.

28.

29.

30.

Which of the following pair is not correctly matched ?
(1) Political Continuity and change Peter H. Merkil

(2) Comparative Politics Today - S.P. Huntington
(3) The Man on the Horseback - Samuel Finer
(4) Modern Political Systems : Asia - R.C. Macridis

Which of the following are true regarding a revolution ?
(a) Change of Constitution

(b)  One ruling elite is replaced by another {
(c) Transformation in Political Institutions f f
(d) Fundamental change in the Socio-economic and political structures

Code : - - r

(1) (@) and (b) @ ®Gand@

(3) (a) and (d) (4) (jl.)’f (b), () (d)

Which of the following are true regarding a {Jmtary Sysﬂem of Government ?
(a) It is most effective in protecting the umty and ggrlty of the nation.

(b) Power is delegated to the local units for adminigtrative convenience.

(c) There is single law making body. -
(d) The local administrative units Elo"not derive the_{r power from the Constitution.
Choose the correct answer : % &

(1) (a) and (c) only _k i (2) (a), (b), (c) and (d)

(3) (c) and (d) only . (4) (b), (c) and (d) only

Which of the follow1f1g amendments of American Constitution laid down “Due process of
law” relating to;judicial sctutiny of legislative and executive actions :

(a) 4th Amfzndment (b) 5™ Amendment
(c) 14th AmSdgent (d) 16" Amendment

" Choose the corrgft answer from the below :

(1) (p)and (9  (2) (a)and (b) (3) (a)and (d) (4)  (c) and (d)

31. Which of the foliowing pairs is not correctly matched ?
(1) Administrative Law - France
(2)' , Appointment of Judges for life - Switzerland
(3) N Equal Representation of States - USA
in the House of Senate
Rule of Law - England
ST 1 Fapec
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27. frAfafed § 4 FF-T1 37 gafea & €2
(1) difcafesna He=ger e =9 - U TR
2) wFfea uifafesd 22 - wEL g
(3) T A 3 T erdSw - Y9 R
(4) Ticd Wfedied faemm : then - R Afkfed
28. fwdlt wifa & Hely ® frefafed § 9 1 ¥ 9 98 §?
(a) Efaud # afEda ’
(b) T TG ot g ek ot gr wferentud dn § "(r'
(c) TsHifaes deensh # ®9 99 !
(d) FEIReR-3Te SR TeHifae Hael § Aifasw aRkexd
< y P
(1) (a) 3R (b) (2 (b) () %
6) (@ (@) @ @
29. TIHR i ThHF Folleht o sk § F=fafaa ﬁ’ré FH Y FYT TE §?
(a) IE T ! Tehdl S TGSl hl 100 TG H F e §
(b) wemEfTR Gfawn i gfe | ufe T sl & /et STeft 1
(c) zuH uwa fafy-fmio frem g | "y
(d) T e g SiEyE § A iR T A
T I I \ ':‘ ¢
(1) e (a) 3R () - 2 (@), (b), (0 3 (d)
(3) A () R (d) (4) T (b), () ¥R (d)
30. ST Wfau™ & W“Fwﬁ?—{:ﬁ H faumrdt IR wrEeR el S =faw deitan & "oy § fafy =t
eI fhan’’ &l Seoi@ fohdl T2
(a) - =t T (b) il TEeH
/() el HImeH (d) Hrergen dengd
A few e faeen d W SW g
@) (b) 3R () . ' (2) (a) 3 (b) (3) (a) ¥R (d) 4) (03 (d)
31. frefafed § & #9910 gafad 78 § 2
(1), et fafa _ W
(2) ¥ =i e st Frafw N S EE NGt
3) WM AW H T o UhEdE yiaffre - Hged U emfken
(4) fafy = o - WIS
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32.

33.

34.

35.

Who among the following described political development as “administrative and legal
development” ?

(1) Paul Baron (2)
(3) Edward Shills 4)

James S. Coleman
Max Weber

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : The system of democracy recognises the equality of all peoplefand, stands

for the government of common people.

It is commonly believed that government is largely controlled and nf:anaged
by ‘power elite’. f [

Reason (R) :

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false. ' ‘
(4)

4)  (A) is false, but (R) is true. ;'/‘J =

f

v

.

| I
Which of the following statements are correct regarding Max Weber’s theory of bureaucracy ?
(a) Itis an iron cage of rule-based rational control
(b) Itis a key part of the “rational-legal authority.”" V.
(c) Bureaucracy means “domination lEhrough knowlleag‘e” in the form of merit.
(d) It enjoys popular acceptabilityi‘in a democracy. |

Choose the correct answer froim theé below :

(1)  (a) and (d) - (2) (@), (b) and (¢)
(3) (9 and (d) (4)  (b) () and (d)
Match the items of List - I{with items of List - I by selecting the correct code :
List-1 | List - II
(Authorsx (Books)

(a) Robert Dahﬂ_ (i) Legality and Legitimacy
(b) S.M. Lipsetf (ii) Polyarchy : Participation And Opposition
() Schmittcarl (iii) Political Man
(d) Roger Charlton (iv) Political Realities : Comparative Government
Code : |
. @ (b)) (o) (d)
O\, 6 @) 6w
@G 6 @) @
@) @ @) G G
@) G @ @ o
pooz I 1 Fapert
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32.

33.

34.

35.

J-00218

frefafea 3 9 foraa T fasm it =aren ¢ yemates TR fafies fawma’’ & 9 | &1 ?
(1) did 9 (2) ST TH. HieEA
(3) Teare fied (4) T IR

1 a1fueRer (A) iR ek (R) few U €1 fouw 7w e § & @& s g

AR (A) : @wﬁmw&ﬁﬁmﬁwﬁmﬁaﬁwwww%aﬁiwmmeﬁ
TRHR T TAh T |

3 RN § T TR SRR i ﬁw%mﬂmawmﬁwqﬁ%\’l

e (R) :
%z :
(1) (A) 3R (R) I §& € 3R (R), (A) T T AT B |

2) (A) 3R (R) S T T g (R), (A) T TS =00 T g1

3) (A) & g, g (R) 7o T e’
@) (A) W & faeg (R) e 1 | 'i

-

ﬁww&ﬂm%m%aﬁﬁﬁwﬁﬁ%wwﬁwqﬁ?
(a) a8 Frem-smenfia i S Friso 1 o @ i )

(b) 9% gfaa Jaa-faferr wfter w1 Aewergul fewm 71 ﬂj

(€) ToRReEr ¥ A % Y H JE F A | w sifigig 3

(d) <Ra T TR MR R LA (

e IW A "H{-{
(1) (@) @ (d) Y )
(3) (o) ¥R (d) (4)

f

(a), (b) ¥R (o)
(b), (c) ¥R (d)

Tt - 1 o g - Haﬁ{gﬁﬁﬂaﬂﬁnaﬁiﬁﬁwﬁwﬁﬁW%W
T - 1 et - 11
(fa)
() foiifert e afae
(i) TIfASTER : TICHUNE TOS TSI
(
(

(@)
~

3
3
j@'-

iii) WiferdtRa ¥

iv) Wifadiera Reeffes : weiifea Mo

=43¢
o
!

A~~~
W N =

\./\_/\_/\_/
—~~

(i) (i)
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36. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) : Presidential system provides for a stable governance model for a full term.
Reason (R) : Centralization of power is inherent in presidential system.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false. f
(4) (A) is false, but (R) is true. .'I";
37. Match the items of List - I with items of List - Il by selecting the chrrect answef from
code :
List - I List - II . -
(a) Islamic Revolution (i)  Led by Bolshevik Party; _
(b) Russian Revolution (i) Anti-Mo erriize‘\"tion Movement in Iran
(c) Glorious Revolution (iii) 1649 Revolution| to limit the arbitrary power of
Char}és I | I.'
(d) Puritan Revolution (iv) Establishing Constitutional government in England
Code : ga H’{J
@@ (b) () (d) r 4
1 G @ (@v) () " ol )
2 @ @) @@ (@) B .
® ™ @ @ o «J)
@) @) (v @ @ Vi
38. Modernization is commonly understood as being analogous to :
(a) Westernizationg = # (b) Europeanization
(c) Rise of Nation State System (d) Industrialization
Choose the correct answer from the below :
1) ©.(d)" 4 2 (), ()
©G) (@) (®) (©uy =, @ (@) ®) () (d)
39. Examine the following statements regarding the media :
(@) Print media is witnessing a marginalised role in contemporary democracies.
(b) " Electronic media assumes a decisive role.
(c) Media is dispassionate and objective in all political systems.
(d) 4 Instruments of media are controlled by the industrial and corporate groups.
Chogsgg the correct answer from the below :
1) @), 0) © @ (2) () and ()
3) (@), ) © (4) (), () and ()
poczss [N s Fapec
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36.

37.

38.

39.

poos ||

AR (A) 3R aeh (R) & &9 § <1 Fod few T €1 = fow T e & 9 wd@ SR g
afireRer (A) . Teeufd ITHA-gumel H gl el o foTu Tt o Sewen 1 Susd ¥
T (R) : Tezufa- o gomett | vifed w1 STiTeh=0T St § |
e :

1) (A) 3R (R) 1 T& § iR (R), (A) F & == ¥ |

2) (A) 3R (R) 3 W& T fhg (R), (A) T T w2 7 7

3) (A) W@ & fohg (R) TTeTd B |

(4) (A) 7@  fRg (R) & T

Tt - [ SR g - 11 &l gafad Fife iR e T e § 9 @ s |
et - 1 et - 11 _
(a) SEAIHE Hifd () 1 el Sedife T gR feren T o g
(b) T wifa (i) &R AT T SryfrE - st
(c) TiRergut shifd (iii) =™ i Figfoseh et <l TREHA & & g
1649 I Hifd |
(d) st sifa (iv) SIS o AR FREHR Y T

<

@ (b) (0 V ,
1) @ @ @) —
2) @ (@) (@) (i) LY (

(3) (v) (i) (i) ( ' !

(4) @) (@Gv) (@)

MY FhIRor sl T ffarad o 9 fhas Sgva A < € 2
(a) TUfEEIRTOT . (b) IR

() UL-TF @ H1 8T (d) A

S Fen S 9 T S

(1) (@ 2 (®)©

3) (@, ), & 4) (a), (b), (), (d)

* sffn 5 il e e 1 e

(a) GHIfcTR Sirad § fie e =t yfter Tifere w o1 T 7
(b) .. SIS Hifear s yfa fofas & T 7

(c) Tifean wit Rreriferss s saeenaii # qeee i froger Tedt #1
(d) Tifean & s sfenfie iR wike THE & o0 § wd ¥
1< fou e fashey # 9 W& I AT :

1) @, ©) © @ 2 (a) (o)

(3) (@, ®), (© 4)  (a), (b) R (d)
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40. Match the items of List - I with items of List - I by selecting the correct answer from the
given code below :

List -1 List - II
(Writers) (Concepts)
(a) Dicey (i) Anomic interest groups
(b) S.P. Huntington () Judicial Review
(c) Almond (iii) Political decay i
(d) Marbury Vs Madison (iv) Rule of law ; .'f; ‘
Code : f o
@@ (b) () (d)
1) Gv) @) @ ) 4
(2) @@ @v) (@) (@ & { ;'i'
G) @) @ @ ) p
4 O @) (@v) (i) ffﬂ’ .

41. Which of the following was not a feature of the Gowxer i ent of India Act, 1919 ?
(1) Provision for a bicameral legislature at the centnzm 3
(2)  The Legislative Assembly would ‘}\mve an electeii Iﬁz{jor;ty and control over ministers.
(3) Communal representation waﬁ-:not only retained but extended.
(4)

4) Enlarged the electorates‘tbi)th‘“for provinces and emperial legislature.

42.  Who amongst the following provided a link between pre and post independence institutional
framework to study Iindian politics ?

(1) Rajni Kothari { (2) Myron Weiner
(3) Morries Jones (4) Paul R. Brass
|

43./ Which of the folfzwing is true about the fundamental rights under Indian Constitution ?
(a) Itis protected arnd enforced by the Constitution.
(b) It can be changed by the common legislative process.
(c) . Supreme Court is the guardian of fundamental rights.
(d)  All Constitutional rights are fundamental rights.

Select the correct answer from the code given below :

(1) (a) and (c) only (2) (a) and (b) only
(3) (@), (b) and (d) only (4) (@), (c) and (d) only
poczss [ THANHLANAN 2 Fapec
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40. - 1 SR - 11 F! Gafera S iR e 70 e & 9 9@ fasned g

41.

42.

43. ,

yoozs [

el - 1
(v )

et - 11

( 3T )

STEH!
Ta.qr. gfden
c) oTcHS

¢ (d

ii

P
—

1

~

( g1 -
i)  (iv) y Y {
(i

iii) /-" 1

f
Freiferfiad & & 1 WA T S, 1919 %1 T foe T o 2
(1) %= H fgaeia faurea =t sFeren| ‘
(2) foum @ H w fraffaq sgaa e oik Swe w1t o e 2
(3) TR Wi 7 e SR T T Sfed 58 SR T |
(4)

4) I SR g faum Heeha 3 fere Fratee #1 g fe
Vi

Freferfiaa & & fFe TRdT T 3 ST S % F - qd e - S e

Heeh ITcTeY hi

o whwem @

(3) Wi S| (4)
"o

IR Wi &g Hifeeh sAfaeri o IR H Fefafed § § &F 9@ 82

() 39 Wl g ferd @Ryl fo T )

(b) =9 I faue e ufshan g uRafda foran s wehar g

(c) = e Hifash TRl w1 SIfamEe ¥

(d) wef HerenfTen SAfehR Hifeen AR €

=i feT T he W W W S R =TI

(1) %9 (a) 3 () 2

(3) A (a), (b) AR (d) (4)

A 2

TR dE1R
qid 3T, o9
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44. Match List - I with List - II and select the correct answer from the code given below :

List - I List - II
(Idea/Concept) (Person Associated)
a) Soft state i)  Atul Kohli

b)  Politics of Scarcity

( (
( (
(c) Crisis of Governability (i
( (

Subrata K. Mitra
Gunnar Myrdal

d) Contentious Democracy iv) Myron Weiner
Code :
@ () (9 (d) {
(1) @) @v) @ () /
@ @ @ 0w (
(3) (@v) @) () () | [
4 O @) @ ()
45. Which of the following is not true about the amendment of the Constitution under
Article 368 ? s
(1) The Bill may be introduced in either House-of Parhament
(2) The Bill must be passed by special ma]o 2/ ard present and voting and more than
50% of the total membership).
(3) In case of disagreement between the Houses joint s-1tt1ng may be called.
(4) The President is bound to give assent to the BC% duty passed and ratified.
46. Put the following Presidents of India since 1989 in th'eig thg’ﬁological order and select the

47.

correct answer from the code given.helow : f

K.R. Narayanan, A.P.]. Abdul Ifaf'am R. Venkatraman, Shankar Dayal Sharma,

Pratibha Patil

Code : ¥

(1) K.R. Narayanan, R. Venkatraman, Pratibha Patil, A.P.J. Abdul Kalam, Shankar Dayal
Sharma.

(2) R. Venkatrantan, A.P.J. Abdul Kalam, Shankar Dayal Sharma, Pratibha Patil,
K.R. Narayanat.

(3) Pratibha Patil, K.R. l\farayanan Shankar Dayal Sharma, R. Venkatraman, A.P.]. Abdul
Kalam.

(4) = R. Venkatraman, Shankar Dayal Sharma, K.R. Narayanan, A.P.]. Abdul Kalam,
Pratibha Patll

'U.

Which article of &e Indian Constitution empower the Parliament to make provisions for a

contingency when the offices of both the President and the Vice-President fall vacant by
reasons of death, resignation, removal or otherwise ?
(1)" Article 123 (2) Article 72 (3) Article 70 (4) Article 58

\

48. “India since 1989 has witnessed fewer abuses of power by Prime Ministers than the United
Kingdom experienced under either Margaret Thatcher or Tony Blair”. Whose statement is
this ?

(1) Atul Kohli (2) Granville Austin
(3) James Manor (4) Christophe Jafferlot
pouzs || {1 HTINIENN 2 Faper
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44. G- 1 Gl - 11 912 Gafed o i) o iU 10 e # 9@ S 1 =9 &L
et - 1 T - 11
( T/ sremoT ) (g At )
(a) Y3 THA (i) A e
(b) 3147 hi TSI (i) Yod . e
(c) STELferdr 1 Hehe (iii) AR faga
(d) foererag ehds (iv) HEE 9N
<
(@ (b)) (o) (d) 4
(1) @) @v) @ @) {
(2) @) (@) (@ (@)
(3) () (@) (i) (D)
4) @) (@v) (@) (i) ‘.,
[
45. STTIT 368 % SiTa WA % e & AR § G B 9 T 22
(1) ﬁ%w%ﬁ*ﬁwﬁﬁmﬁwm 37
(2) ﬁwmﬂa@ﬂ(2/3W®Wﬁmmamwm%50/ﬁafw)gr{r
39T I BT =18 | /
(3) HEAl % o< TEeATd B I <M H HIHK oS feq |
(4) Wﬁwmﬁ%wwﬁhﬁ%ﬁwﬁﬁéﬁﬁmw%l
46. H11989 9 W%ﬁﬂﬁf@ﬁwﬁ@aﬁ SEED 0h|(f19h£ % STUR W iR = feu MU Fe =t
T 9 TEl 3T AT =TI B 2
. 3R, ARE0H, TS 61@3('1._010('141*4 SR, JHeIHY], Th TATE IMI, Fa«T qifed
<
(1) h.3TR. ANV, 3R, deheHu, Gfad aifed, TS, e hol™, Yeh SaTel TMl
(2) 3R ke, T, AT HelH, Teht SATA I, AT uifeed, o, 3R, TRE0H
(3) ufdun wifed, %.3TR. AXEUME, Wehl AT 9H], TR, dAehedqol, TSI, 3Tegal hal|
(4) SR AHGH, Yt TATC THI, . AR, TEUH, TS, Feged shet™, Y wifee
47.( i HeR W S ST e %) T A ¥ e Tel I & R o T T S
% ISl 1 T, | BT ST AT 37T i Folg 9 R 8 S T AR el o ol Jraem & ?
(1) =< 123 (2) IR 72 (3) ¥T=T 70 (4) =T 58
48. “‘FrARRE ﬁﬂ?lm‘@l‘ﬁﬁ TP o Td IS fohired o yur wiE@i R g sl TS geuinT feran
1 3Geh! IO H § 1989 H 9RA H YU iR §RI E1 1 UL HH RN <@l Tl I8
e fopeTepT 2
(1) a@a Higedl (2) IAfae siffed
(3) S HW (4) FFrEI® SHr
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49. Who of the following regard the Supreme Court of India as having a dual personality - a
legal institution and a public institution ?
(1) Granville Austin
(2) Upendra Baxi
(3) Madhav Khosla and Ananth Padmanabhan
(4) N. Robinson
50. Who calls Election Commission of India as an effective ‘bulwork of free’and fair
elections’ ? p
(1) Alistair McMillan (2) Lloyd and Susanne Rudolph {
(3) R.P. Bhalla (4) M. Katju { r
51. Match List - I with List - I and select the correct answer from theicode given below :
List - I i “List - II
(Book) T A |(Authors)
(a) An undocumented wonder : The Makmg‘{)f “() BS. Rao
the Great Indian Election ..' |
(b) The Framing of India’s Constitution : A study’ /(ii) Granville Austin
(c) Working a Democratic Constitution : | \ ! (i) S.Y. Quraishi
The Indian Experience
(d) The politics of India since Independence _ (Liv),-*'J Paul R. Brass
Code : A f
@ 0 O @ o f |
1) @ @ @) @ 1 g
(2 @) @ G@ @)
() @v) @) @) @
@ O ) @< ()
i
52. Match List - I with List - I& and select the correct answer from the code given below :
List-1 List - II
(State) (Chief Minister)
‘ (a) Uttar Pradesh (i) Jairam Thakur
(b) Assam | ¥ (i) Sarbananda Sonowal
(¢) Kerala ' (iii) Yogi Adityanath
(d) ... Himachal Pradesh (iv) Pinarayi Vijayan
Code : |
L@ B @ @
W'y a @) 0O @
@G @ @) 6
(3) (ﬁ) <ﬁi> ) @
(4) (i) (i)
poues Il 2 Fapec
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49. TrfafEd & § ®F YR & SS9 <A T el St (T8Y) AFd § - Teh i g iR

Teh Aleh HeeqT ?
(1) IHfoet s
(2) U= SRl
(3) HIYE WIHA TH 3THd G4
(4) . Ui
50. M YR frate e %t s va froget fratesi &1 T goret wad ed € 2 d
(1) ufeus=r Hefier (2) dIS Td gIH TEITHh {
(3) Sl weel (4) TH. HE { i
51. o - 11 Tl - 11 o 912 Gafed o iR o iU T e 9 9 3T 1 =97 &Y ;
et - 1 iy gt I
(& ) P (P )
(a) TUA SFEHRHCE T : ﬁﬁmwé‘rﬁz (i) ®NTE @
EEEEIEREE |
(b) < HHT ATE A Hieegy : leér (i) T SR
(c) afehT T SHshiceh HIRSTTH : T sfead (i)  THARE. S
(d) & wfafesa itw sfean fog dEisa - (iv)? e IR, ST
%z - (
@@ () (9 (d) < qi
1 @ @) @) @ Yy
2) (@) (@) @) (i)
3) (v) () (i) ()
4) O (@v) (@)« (@)
52. eI - 11 Feit - Il%mmjfrmﬁ 3R a1 fou TTY e @ WE SR w1 = H
et -1 et - 11
() 4 (7 wHt)
/ (a) SWYW “’f (i) SERM 3
(b) oTEH (i) GG FHEA
() ~hd (iii) AW TG
(d)~ fewr=et ué"f (iv) T fosem
EE?: i
,@ (b (9 (d)
(1) = @) (@Gv) (@) (i)
2) (@) @@ @) @
(3) (ii) (i) (iv) (i)
(4) (@v) (@) (i) (i)
poozss || AHINENN 2
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53.

54.

55

56.

Who describes Indian federation as a “holding together federation and not a ‘coming together
federation” ?

1)
®)

P. Bardhan (2) R.L. Watts

Douglas Verney (4) D.D. Basu

Which committee on Panchayati Raj in India takes of three phases : “The phase of ascendency

The phase of stagnation and The phase of decline” ?

(1)
®)

Sadiq Ali (2)
Asoka Mehta (4)

L.M. Singhvi /
B.R. Mehta ‘

The grounds on which President’s Rule has been imposed on the states in India are :

(a)
(b)

(©)

(d)

If no stable government can be formed. {

If the Cabinet has lost majority and no o/tper rﬁinistry commarilding a majority in the
Assembly can be formed at once.

If the state government does not obey the dlrectlves. given by the Union government or

breakdown of federal structure. / \

Corruption.

Select the correct answer from the codes given below : _ _ &

(1)
®)

(a) and (b) only )

) only
@ Oand@ onty 4L @

b) dnd (c
(@), (b), (c) and (d)

Vi
Match List - I with List - I and select the correct answer from the code given below :
List - I Cr b List - I1
i
(Movement) { (State)
Tebhaga Movement i)  Odisha

(
Silent \}aﬂ'ey Project ( Uttar Pradesh
Banwasi S?a Andolan (iid)
(

Chilka Bachao Andolan

[
—-
~"

Kerala

iv) West Bangal

(@ (b) f(c) (d)
@ (v) @) (i)

(i) (i) (i)
({v) (iii) (ii) (i)
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53. M IR HEETE S T ¢ o1l foren gan’! hewm % w9 H aftfa #d € &R 7 f we wy o
A’ HEWH F T H ?
(1) . =EF (2) SIRTA. dieH
(3) U o (4) <€ 99
54, 9RA H YA TS R HHE-E AT I =00 6t &1d Lt © uﬂaaﬂwwﬁrﬁaaﬂwaﬁi
3AeAfd w1 =X’ ? {
(1) e oreft ) TuauE. fHeet i
(3) 3Tk Heal (4) oS A [ f
55 éaﬁqaﬁqﬁww%ﬁmmwﬁwﬁﬁwﬁrwa@ﬁﬁamw%%
(a) A FIE R TR FI 77 &l ool S Fehal |« © | |
(b) ?Tﬁ:’l—lwwsmﬁngdWﬁW%GﬂTﬁHHH}fﬁa@ﬁ'@ﬁmﬁﬁ%ﬁmqﬁﬂwaﬂ‘g}ﬁ
T el foham i1 Hehatl | /
(c) ?Ti%uwwwwwmumﬁm%ﬁ%@quﬁm%mwﬁmﬁw@w%
(d) Y=ER
I QU el H W@t I A1 = B " - -
(1) o (a) 3R (b) ,: 2 e (af, (b) ¥R (c)
(3) A (a), (b) AR (d) ” L@ (@, ), (0 3R
56. ﬁﬁr-laﬁlﬁr-nésmargﬁmaﬁaﬂ?ﬂ%mm@ﬁ@wwwwsﬁ:
gl - 1 gl - 11
( aiterer) * ()
(a) T ST (@) g
(b)) rEeie Sl A (i) W YW
| (c) e Fa s (i) HLA
(d) TercTeRt srned srider (iv) Ofed s
e |
. @ () (0
(DY, @) @) @O )
(2) =@ (@) (@) (i)
(3) (1v) (i) (11) (i)
(4) (1)
poos HIHIIHIH\IH |\|\|H|| 2
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57.

58.

59.

60.

Which of the following have been discussed as crisis of India’s national unity by
Paul R. Brass in his book The Politics of India since Independence ?

(a) Punjab (b) The North East

(c) Casteism (d) Kashmir

Select the correct answer from the code given below :

(1) (a) and (d) only (2) (b) and (c) only

(3) (a), (b) and (c) only (4) (a), (b) and (d) only ¢

"

Consider the following statements and select the correct answer frdm the codegiven
below :

L

Assertion (A) : Lant Pritchett Calls India a “flailing state.” = 2

Reason (R) : The state in India appears to undertake highly: complex takes with relative
efficiency - such as running atémic weapons programme or regulating
monetary policy - while struég%fi}ng to perform more ordinary governance
tasks - such as delivering basic health and education.

Code : f _fl

(1) Both (A) and (R) are true, and (R) is the correlt ‘é&xplanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correet expiémation of (A).
(3)  (A) is true, but (R) is false. e

(4) (A) is false, but (R) is trtie?‘ )

Which one of the following Commissions was not related to Backward Classes ?

(1) Bakshi Commisgion* (2) Mandal Commission
(3) Havnoor Commissioil (4)  Shah Commission
‘4

“If Hume and other. English liberals hoped to use Congress as a safety-valve, the Congress
leaders hoped to ise Hume as a lightening-conductor”. Who said this ?

(1) S.R. Mehrotra (2) Sumit Sarkar
(8) .. Bipan Chandra (4) Tapan Raychaudhuri
|
|
61. Who among the following was the first to advance the idea of worker’s participation in
management ?
(1) I—rlenry Fayol (2) Herbert Simon
(38) F.W. Taylor (4) Mary Parker Follet
poczss || 1EREATIVRRR 2 Faper
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57.

58.

59.

60.

61.

i 3TR. 19 R 319! T&ieh, & Wifcifes™ 37 sfean fog sSied # f=fafeaa # 9 fohger wra
1 AL Tehal & Gohe o ®I § 0 fohaar T & 2

(a) S (b) ST

(c) Sfdeng (d) TR

= ST T e & 9 W ST H FF B

(1) 9 (a) 3R (d) (2) = (b) ¥R (o)

(3) I (a), (b) 3 (0) (4) 9 (a), (b) 3R (d)

frrefefaa el T fomamr &t o 9 fou T e # & wd s w1 wE |

USRI (A) :  Tic fIese RA &l ' T T9%a gl T '’ Fed ¢ | d

e (R) : Wffu\rqéw«dwrdm%quﬁﬁrﬁwmﬁwaaQﬁﬁﬂTﬁﬂ‘@ﬁT
T - é@aﬂfﬂaﬁﬁﬁWqﬂquaﬁdﬂw'ﬂHu;%dlldﬁﬁﬁqmﬁw SEIED

%W%Wmmmmﬁﬁﬁmﬁﬁﬁmﬁm% S g
e Te e Suersd e |

&®e
1) (A) 3R (R) 3HI @& €, 3R (R), (A) ﬁﬂ'@ﬂﬂ@)

(1)
2) (A R)aﬁ'—h%‘r% WAfF (R), (A )aﬁaﬁwaﬁ%
3) (A) W& T, Afh (R) Tod g \ (

@) ()T §, A (R) 14%“[1%? .

frfafed § @ SF-w1 A frse anf @ efid & © 2
(1) = emm (2) ved I

() Temm | (4) ¥ ST

“qﬁ@ﬁiﬁsﬁwmmww@ﬁ—wéﬁmﬁswum T T ITHIE A I Al

/I FarTo gH "_ T ARST-hea & ®9 H TIHS Hi- i ST i A1 Ig FYF forgant

€2 |
(1) TH. 3R, W& 2) g &R

(¢) fom==s | (4) T TEEEDR
i

fretferfea & 9 fore Teigem goivm § HR 1 wriicrt & foem 1 geqd fohan ?
(1) TR R (2) e HEHA
(3) THIHY, o (4) T UER W

pooss [ HEITNANEAI 2

www.examrace.com



62. Match List - I with List - II and select the correct answer from the code given below :
List - I List - II
(a) Behavioural (i)  Administrative system as a sub-system of the society
(b) Bureaucratic (i) Agrarian - Transitia - Industria
(c)  Ecological (i) Legal - Rational authority
(d) General system (iv) Analysis of human behaviour in administrative settings
Code {
@ B © @ (
1 @) @) @ 6 ( f
@ () @ @ 0 ;
@) (v) @) (i) (i) £ '
4) @) @) @) 0 P | “
63. Which of the following are the features of Néw Public M'anagement ?
(a) Contracting out (b) f Devolution of authority
(c) Focus on performance appraisal (d) Focus oj;lanag,ement
Select the correct answer from the CC{ie given below : ‘
(1) (a) and (9 <d @ (@ and|b)
(3) (), (b) and (0 Ny € erome
64. Who among the followmg has criticized classical theory as “homely proverbs, myths, slogans
and pompous 1dent1tLes
(1) WU Wlllougbhy { (2) Luther Gulick
(3) Henri Fia§;;ol (4) Herbert Simon
65./ Who among the}lld'wing said that behaviour in administration should be studied through
psycho-analysis ?
(1) “Alex Bavelas (2) Orway Tead
(3) * Abraham Maslow (4) Chester Banard
II'.
66. TheHawthorne experiments belong to the era of :
(1) Mid 1930's (2) Late 1930’s
(3) Early1920’s (4) Late 1920's
poczss || 1EREATIVRRR . Faper
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62. eIt - I 1 Gt - 11 ¥ gAfaa wifae ok = fed T $e & w@@d s g
e - 1 et - 11
(a) SHTBRIH® (i) St IU-YUMCAT o &9 H FmHH goledt
(b) AeFTIE (i) TR - giffen-gefen
(c) TuRfafarta (iii) faferer - foaereiiar wifeerrdt
(d) ST ot (iv) TR e § HIe FEgR ol faeeto
e {
@@ () (o (d :
1) Gv) @) @ @
(2) (@) @) @) @
@) (@(v) @) @) (i) J 'E_
(4) (@) @) @v) @ ;
Y A
63. ﬁnﬁf@ﬁﬁﬁﬁ?ﬁwmwmﬁﬁﬁwﬁ \ .'
(a) HforeT < (b) |
(c) ToameA qesrisnd W & (d) FeEA q‘?%ﬂﬂ
ffam g aw TR g ’
(1) (@) () « [ @ @ (b)
() (a), (b) 3R () @ @) 0)© @
64. Trafafed § 9 fre s fagid wt THEEA  gEe debif, fHew, 97 iR sTearyu
TrETarel’ % &9 H #H ¢ ? x{
(1) g T, forersi (2) TR TR
(3) - T A (4) T HEAA
65. ﬁwﬁ@aﬁ@%ﬁ%%wﬁww S - Faeei 3 R foen < w2
(1) T oo (2) o de
(3)  aroEH Hee (4) =R T
i
66. sa;fﬁé;mﬁmﬁrﬁaawés%:
(1) 1930 % <WH & T & (2) 1930 % SWH < 3
1920 % S o AR & (4) 1920 % TH k Hd F
poos HIHII\\||H||H|\|H||H|IH\II\IHHIIIHHIIH||\||\|\|H|| g
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67.

68.

69.

70.

71.

Who among the following described bureaucracy as “The continental nuisance” ?
(1) Max Weber (2) Thomas Carlyle
(3) M. Crozier (4) Karl Marx

“Unity of Command” means :
(1) That the subordinate will have only one supervisor.
(2) That the subordinate will have more than one supervisor. /
(3) That all the units are put under one head.
4)

4) That the work is divided among all the subordinates.

The Governor of a state in his capacity as Administrator of an adeining Union Territory
discharges his functions independently of : /
he

(1) The President of India (2)

-
Union Cabienet

(3) The Union Home Minister (4) | The Sl?te (_*flouncil of Ministers

Which of the following are the factors determining the lgngth'bf span of control ?
(a) Age of the organisation . “b) Personaﬁity of the supervisor

(c) Calibre of the subordinates" ¢ (d) Organisational structure

Select the correct answer from ti‘le code given below :

1) ®and@ (2) (a) and (9

(3)  (b), (c) and (d) ¢ J{ 4) (@), (b), (c) and (d)

Which of theqfcglowing are the benefits of E-governance ?

(a) It makes geyernment more accountable.

(b) It minimises peléple’s participation in government affairs.
() It encouragles bureaucratic tendencies.

(d) © It lowers transaction costs.

(). It helps in building trust between government and citizen.

Selet_"t the correct answer from the code given below :

M @) @) © @ and © @ @) @) (© and (d
®) @ @), (@ and (@) (@) @) (@ and ()
poczss [N 2
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67.

68.

69.

70.

71.

J-00218

frefeliad B 9 fram Aihmme = egid Sugd’ §rr ?
OB:ESEER (2) oE FHRARA
(3) TH. ISR (4) el T

“fRioT it Wewar’ o o7 ® R

1)  STeI% I hocl Teh THoEmeh Qi |

2) ST 1 U § Ak et gm

3) W UHHI I TH WG H e T I ¥

4) @t erefieell & St % T faaTr faRan s ©

(
(
( [
(

fordt T A1 TauTe THehead! &9 U9 %ﬂ%uw%wﬁﬁmﬁf@aﬁww@ww

o1 e #an ©
(1) 9Rd k1 Tegafd (2) é‘aﬂﬁn@?{
(3) e e T 4) [ T T ofieg

ﬁaﬁmwaﬁaﬁaﬁﬁﬁﬁwmﬁwﬁmﬁ@ﬁfé?ﬁﬂ;@%?
(a) ST F A L) TR e
© o afari a8 L (d) e g
ﬂﬁ%ﬁﬁﬂ@@@ﬁﬁwzﬁﬁ‘:i

(1)  (b) () (2 (a) (o)

@) (), (@@ : @) () (), (©) ¥R (d)

ﬁwﬁf@ﬁﬁﬁﬁﬂ T §-TEE o A T 2
) %Waﬁﬁwmﬁrm%

o) mw%mﬁmﬁwfrawzﬁ%.

) 3O A S ygfaar agd € |

d)’ mm—ﬁ%@%ﬁwaﬁ%l

(€) 3UY TR AR AR & o favarg fmior o #eg faerd §)
ﬁﬁﬁm@@mﬁwaﬂwﬁm:

(1) @), (), (©), (d) ¥R (e) 2 (@), (b), () R (@)
(3) (@), (b), (d) 3 () 4)  (a), (d) ¥R (e)

(a
(b
(
(
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72. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : According to Gleen Stahl, unless the recruitment is sound, there is very
little hope for recruiting a first rate staff.

Reason (R) : He considers recruitment as the cornerstone of the whole public personnel
structure.

Code : ]

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) '

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A) { é

(3)  (A) is true, but (R) is false { F

(4) (A) is false, but (R) is true

v

.

73. Given below are two statements, one labelled as.Assertioﬁ (A) jand other labelled as
Reason (R). Select the correct answer from th;/pde given below :

Assertion (A) : Classical theory views organisation as a formal structure of authority based
on Universal principles.  / . J

I . . .
Reason (R) : Classical theory views human beings who run an organisation as mere cogs

in the machine.
¥ F

Code : r.

(1) Both (A) and (R) are true and (R),is the correctrexplanation of (A).

(2) Both (A) and (R) are true,ﬁu;c‘_ﬁR) is not the correct explanation of (A).
(3) (A) is true, but (R) is false

(4)  (A) is false, but (R) is true.

74. Match List - I with List - I} and select the correct answer from the code given below :
List-1 | List - II

(a) . Span of Gontol (i) Supervision

r (b) Hierarchy ., (i) One single boss

" (c) Delegation | (iii) Through proper channel
(d) Unity of Command (iv) Flow of authority
Code '

L@ 0 © @
Ly @ @ @) (1)
(2) =@ @) (@v) ()
€) (iii) (i) (iv) (i)
4) D (@)
s [ DI “
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72. I < oA fed MU E, ww SifueRed (A) % w9 H fafed ¥ SR gHU T (R) % &9 # fafwd g
ﬂ%ﬁﬁﬂ@%ﬁwwgﬁnz
AR (A) : Tl WIS & 3TER, 56 T Wl g6 el eIFil, ITH HHAN o Wl G 6t T

Tl B g
T (R) : T 9t o1 FYUT TSI HHARI g % SR % 9 H 71d €1
<
(1) (A) 3R (R) SH & ¥ 31 (R), (A) T T ARAT T | {
(2) (A) 3R (R) I T T, AT (R), (A) T el AR T | L
3) (A) & g, &fehd (R) T T | f

(4) (A) 7T ©, AR (R) Tl g

73. = e fed T E, w afueRe (A) % w9 A fafed § o gl ST (R )%:@rfffﬂ%ﬁ%l
3 fe T e # & W I AR ; !

AR (A) . Fnfaehe fagia wdifaes FARIED ?HT%JI'R TR TS I WHR 1 SAI=in

1 % T H SE T

HIUT (R) : Wﬁwﬁmaldﬂaﬁdmm q|d|§11;§vwﬁrﬁ%ﬁmﬁ?ﬁwﬁ?wﬁ
TEA T

W‘:

(1) ‘qﬁ'-hﬂ%“r%e;ﬁI(R fx%ﬁraﬁrmg

() (A)aﬁt(R)a-vhﬂfr% éﬁf?(n) (A) Tt T = 76
3) (A) W T, wfd (R W%H
(4) ( TIFH%?IW ) TR 7|

74. G - [ % G- Ilﬁ@mwmﬁmm@ﬁWBﬂgm

et - 1 et - 11
(a) forisr Frterat @)
[ (b) USHA P (ii) TR A A

() TEMENSH | (iii) 3fad A1 & g
(d) fEs =6 g (iv) WIfkER =1 7aE
e : |

L @ (b)) (d)
D)5y @) @ ) (i)
2 = @® @) (@v) (i)
(i; (iii) (i) (iV) (11)
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75.

76.

77.

78.

The 73" and 74™ Amendment Acts have resulted in :
(a) Transparency in the governance

(b) Accountability in governance

(c) Gender empowerment

(d) Deepening of democracy

Select the correct answer from the code given below :
(1) () and (d) (2) (@) and () /
(3) (), () and (d) 4 @), O), (© and (d) ( r

Ty

After independence, the role of the District Magistrate has undergone a substantial change
mainly due to : d | (

(1) Political awakening (2) T/hé role of mass media
(3) Democratic decentralisation 4) I,l’i'*‘emodlcal elecuons

r .'
[} |

The report ‘Right to Information : Master key to Go)cjféoverngnce’ was submitted by :

F
Fd

(1) The Sarkaria Commission 44 { -y
(2) Punchhi Commission {

(3) First Administrative Ref?rInSdCormnission

(4) Second Administrative Reforms Commission

i,

-

Which one of the follz')wing Commissions/Committees/ Thinkers has identified 27 modes of
corruption ?

(1) - Kautilya 4 (2) Vohra Committee
f (3) SanthanarrffCoxlnmittee (4) Central Vigilance Commission
79. The Joint Consultative Machinery in India was established on the recommendation
of i |
(1) Fisrt Pay Commission
(2) ':" Second Pay Commission
(3) First Administrative Reforms Commission
(4) Paul Appleby Report
pocess || AR & Fapec
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75. 739 IR 74 3 GeeA stfufremi & uRomreeey frfafed gu e
(a) TR H UrEfid
(b) TER H WA
(c) wfeeT HeweRieRT
CIRSEEEEIREE T
e fed T e @ W SR T
CINCEAT) @ @) (s
(3)  (b), () () 4)  (a), (b), (0 ¥R (d) Ir
76. TR ¥ AT, foren SRR = gﬁwﬁg@m@ﬁwﬁfﬁaﬁw@a@aﬁwqﬁww
g
(1)  TSHITdeh SR gf TaR ﬁ JgfeeRT
(3) SR foeh=sieRtol ﬁ %ﬂa
77. ‘W8S T TARRHIN : A &l T [ T’ gfdaed I"IJ-"IIcfll‘elsl # ¥ ¥ g WA A T
(1) |IRIRAT M L f
(2) USt AEN \ ? .{
(3) HH YRIHTh FUR TR
(4) SHU TRMElE GER SR
K
78. fr=fafea & 4 feg amh/lrﬁqﬁr/ﬁﬁaﬁ TR & 27 Afqal i Jeam &1 2
(1) wfeen 4 (2) drew Efuf
" (3) Hery W#f (4) HET Tkl SR
79. YRAH G et o7 Frefafea § 9 frgent fawfier w wenfua foran e ?
(11 o oad eﬂlwﬁw
(2)'y Tt 3 st
(3) Ve TemEE R ST
(4) et TS R
poozs [ LRI 2 Papec
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80. Which of the following Commissions/Committees has identified “‘weak governance’ as the
main reason for corruption in India ?

(1) First Administrative Reforms Commission

(2) Second Administrative Reforms Commission
(3) Vohra Committee
(4) Santhanam Committee

o
f
81. Which one of the following is the sequential order of the following! states bq{oming
acknowledged nuclear powers ? f r

(1) America, Britain, Soviet Union, France and China

2)  America, Soviet Union, France, Britain and China . ,

4 America, Soviet Union, Britain, France and China*

..l' i

)
(3) Soviet Union, America, Britain, China and France
4

82. Which Chapter of the United Nations deals rw1th t l’Paaflc Settlement of Disputes” ?
(1) Chapter II (2) Chapter III lajpter IV (4) Chapter I

%
83. Given below are two statements, oné labelled as Assertion (A) and other labelled as
Reason (R). Select the correct ah,s r from the code given below :

Assertion (A) : The Cold Whriand decolonisation process had discouraged more active
involvement by United Nations within state.

Reason (R) : States have national interest as its prime interest.

Code : { J{

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) © Both (A) and (R) are true, but (R) is not the correct explanation of (A).
/ (3)  (A)is true/but|(R) is false.

4) [R)is true,,Eut (A) is false.

84. India has signed strategic partnership agreements with :
(1), France, Russia, Iran and South Africa
(2) ‘j'. China, America, Britain and Argentina
(3) ASEAN, Japan, Australia and Tanzania
(4) Vietnam, Seychelles, Mongolia and Singapore

poozss | HHHNININAN
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80.

81.

82.

83.

84.

.I' 3

frefafea o & o sam/afafal 7 9Ra § =R & &1 R0 & ®9 §  HHESR 6 6 98daH
HT?

(1) T= GETeh GUR ST
(2) THU TRMEiE GUR ST
(3) drsy wftfa

4 ¥

frefafed § @ oF W T T 61 Wihd WA WK I 1 HICTIhHb FHH © ? (s
(1) /@l faeq, difsaa gfed, g sk = I

(2)

(3) Hifaaa A, o, foed, =i ok wig
(4)

sTafaRT, Hifead gfed, Wi, foea ok ==

(

-

sTAfERT, Hifoad gfed, foed, wig aﬁ'{%ﬂ?/‘( |
|'III' _I

T T W T HIA-TT awm‘ﬁa@ansﬁﬁtﬁwﬂm’@ﬁaa%?

(1) = 2) FEE ?'a v 4) eI

ﬂﬁ—é}?ﬁfmﬂﬁﬁm%waﬁmm(m%ﬁmﬁﬁﬁaﬁaﬂiwm(m%mﬁﬁﬁa%

= fed T e T W@ W IO

AR (A) : Qﬂag@aﬁxrﬁﬁﬁ%wﬁwﬁmﬁwwwmwﬁﬁww
ﬂ?ﬂa’rﬁaﬁﬁw%am|

HIT (R) : T} 1 Y fed 371 yq@ fed |

2 :

(A) 3T (R) S T&1 & 1R (R), (A) T T =0

(A) 3R(R) I Tt €, ATHA (R), (A) T T == T |

(A) T& g, | (R) 7T g |

(R)

R) ¥& %, (A) T B

(1
2
(
4

)
)
)
)

R A Frefafad & wy srifaen Trier SHEidl 1 gser 6 E
(1) ShiE, &9, & AR feor sithehr
(2) ¥ =, @R, foed iR srsidm
(3) e, ST, STeferan iR dSttan
e, Sfdew, Hiferan sik famR
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85.

86.

87.

88.

Consider the following statements with regard to India and ASEAN.

(a) India became Sectoral partner of ASEAN in 1992.

(b)  Delhi Dialogue is on Politico-economic issues between ASEAN and India.

(c) India became Dialogue partner of ASEAN in 1996.

(d) India became summit level partner of ASEAN in 2000.

Select the correct answer from the code given below : [ .

(1) @and(d () @and(© (3 (and(d)  (4) *(a)and @ s
{ r

Which of the following statements are true about SAARC ? {

a) Australia, America, Japan and Russia are observers. i

= b E
b) Promote and strengthen collective defens}gamong,member states.

(

(

(c) Indian become Secretary General of SA‘,ARC tw1ce '
(d) The Second Summit of SAARC was held in I:f

Choose the correct statement from code given belo

(1) (@) () and (d) O ®and e

!
(3) (9 and (d) -, [ & (b)(9)and(d)

| Y
Who have argued that far from an objective reality, international politics is a “World of our
making’ ?

(1) Realists { (2){ Feminists (8) Idealists (4) Constructivists

Consider- the 4f(.ﬂlowing statements :
(a) India’s ’Lij_ West Policy” is an attempt to reconnect to the Western World.

(b) ‘Project Mamsam’ is an Indian initiative for maritime cooperation in Indian ocean region.
(¢) = ‘Operation Rahat’ was conducted by India to rescue Indians from Libya.

(d) India has become member of Shanghai’ cooperation organisation.

L]
Chogse the correct statements from the code given below :

(W@@mw @ @) () and 9
(®) @ (), (© and (d @) () and (d)
oo H\I“HIIHI\HHI\ .
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85.

86.

87.

88.

poos ||

IRA 3R e (LTI TTH.) & ey § frAfafiad el ) faur s
(a) WRA1992 H STFHAM o1 &5 WFIGR o1 |

(b) oot amat snfaam iR wRa & o TSTHifas-eTfew q&i & da9 # T
(c) HRd 1996 § AT o1 oIl HFTGR o T |

(d) 9RA 2000 H AFAH T TG T W &1 9EIGR o9 T |

e 2 T g2 | Wl S R ]
(1) (a) ¥R (d) 2 (@ ¥R () (3) (b) 3R (d) <®@ﬁﬁg

gk & IR H Frefafed § 9 SF-91 woF wd@ § 2

(a) ofefern, smfte, M IR 9 waes €1 .
(b) —HEE TG F el Wfeeh GRa h Herel Hgl AR Ygg FHT |
© AR e [ ’

(d) Ereh I SHU e’ T YRA H gl | 'I \‘f

= fedr T Fe H W& weH g
1) @) © IR @ e

t"\
6 ©FR@ 1aj@>@@w@
i

R =g a foon © T aqmies aund ¥ geaw, SR Uit ‘gan fafo =1 fova’ &2
(1)  Fenefarst ( (2)“{ EZICIC (3) oTcRam! (4) fmfoan

feferiad e foe=m =ife :

/() R 1 ‘foiep a2 diferdt’ ofeerdt ST & G IS 1 Th FAH

(b) ‘U .’%HEIHIJI{aﬁﬁHﬁG{‘I AN % f YT 95 7 |
(¢) ‘39 Wgd’ YRA gNI Tlifer § Rl oh1 sreirel shid o foTQ =rerran 7 |
(d) T Y AT T W S R

et fedr T e H T e gf

1) @, (@ 3R (©) (2 (@), (b) R ()

(3) (@), (b), (o) ¥R (d) 4) (b) 3R (d)
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89. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : Security is a Contested Concept.

Reason (R) : Security is multidimensional in it's realization.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). !
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). II : .'I"; ‘
(3) (A) is true, but (R) is false. { r
(4) (A) is false, but (R) is true. i
;
90. Consider the following statements : U 5
(a) OPEC was created at Riyadh conferenc;/i:‘: 1960.} |
(b) The charter of OAS was signed in 194r8lll. ' _e'.
() Indonesia is a member of OPEC. \ ‘j
(d) Cuba is a member of OAS. —= £
Choose the correct answer from the E'oae given below :
(1) (b)and (0 \ ?‘ € ® @and@
() © ©@and(d ™ (4)  (c)and (d)

i,

-

91. Neo Liberals, from their Lackean Universe Seek to create international regimes that optimize
the :

(1) - Rational éxploitation of nature  (2) Rational functioning of the state system
/ (3) Rational a‘ﬁfliclation of power  (4) Rational utilisation of weapons
92. Democratic peace theory has been largely associated with the writings of :
(1{ ImmanuellKant and Voltaire
(2
(
(

)Ik  Michael Doyle and Bruce Russett
3) " Thomas Christensen and Thomas Schelling
)

w

4) Mahatma Gandhi and Jawaharlal Nehru

poozss | IR 5

www.examrace.com



89. = <1 s fod U €, U SifueRed (A) % ®9 H fafed ¥ iR gHy T (R) % &9 # faf=d g
< fed T e # | W@ SW G
AR (A) :  GRaT faanied STauRom 7|
HETT (R) : GRET ST STYfa H wgetET ¥
<< :
(1) (A) 3R (R) I 92 § 3R (R), (A) =t 92 =€ 2 i
(2)  (A) 3R (R) S W &, WAfFT (R), (A) T W =0 T 2 | i .
3) (A) W& %, Wfehd (R) Terd T f f
(4) (A) 7o €, Wl (R) TE 2
90. fretferfam o R forem Ffe : | AN
(a) 39eh 1 T3 1960 H RERE T e # gaﬂirfﬂ’ [
(b) SNTTE. =P W 1948 F TENLR A T /
() SRR sit 1 wew ¥ \ ﬁ,/
(d) FI AT TH. FH T T e s
GRS SRR R LT |
1) b Q) i © e @R
() ®) (@ 3R () " (4)  (© (@)
91. d SCRA!, 39 Tl %ﬁ;%mgﬁ ST |Ee Giotd A i I &hd § il (=fetad § 3
fereRay T €2
(1) Wk T < (2) T2 yonelt i TRyl framfer
[ (3 wfm ﬁéﬁﬂu’gﬁﬁ (4) T 1 faERYul ST
92. crchditIeh I fag =mues ®9 9§ foras @i @ grafed g 2
(11 THYSTA awlre 3R afeerr
(2§ T < SR oE waE
(3) oo Breae si wfre S
(4) HRIH M SR A TeE
roozss [ TR AN i Pape.i
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93. Which one of the following is not part of the four main criteria set out by 1933 Montevideo
Convention on the Rights and Duties of the state ?

(1) Capacity to enter into relations with other states

(2) A defined territory
(3) Strength to wage a war
(4) A permanent population

P 1
f
94. Match List - I with List - IT and select the correct answer from the code given below,:
List - I List - IT -

(Treaty) (Purpose of agreement) !

(a) Geneva protocol (i) Bans multiple independent reentry wehicles
(b) START 2 (i) Bans use of chemical ;/yeapons f
(c) INF (i) Reduces strategic arms (
(d) START1 (iv) Bans y 0 categ;rlies of land based missiles
Code : / [ I

@ ¢ © @ ,. \
M O @) ) 6 /
@ @) @ @ 0 -t
@ ™ O @ G .4 |
@ oo @ f

!

95. Which one of the following statement is incorrect ?

(1)  Collective Security aims to defend the Status quo.

(2) Collective Secux"ity Qperates in an institutional framework.
(38)  The diffusion of Gulf crisis 1990-91 is a successful experiment of Collective Security.
(4) - Collective Security and balance of power policy are compatible under usual

circumstanges.
96. Morgenthau’s classification of ideologies doesn’t include :
(1) .. Ideology of status quo (2) Ideology of imperialism
(3) Ambiguouls ideologies (4) Ideology of hegemony
\

|

97. Whi'éh one of the following is not part of five global commons ?

(1) The High Seas (2) The Climate System
(3) The Deep Ocean floor (4) The Arctic region
poczss [ THANHLANAN g Fapec
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93. TR % AfHR IR Fdadl W a9 1933 § Areeifafedi Twiem gr1 fuifia =) qer wmeel o fewm
frfafed § @ F 91 & © 2
(1) 3T T o WY T GREY T i &l
) fruffa a=
(3) IS H H ARA
(4) TRl SHEE
94, ¥ - I I T - Il%wagﬁmaﬁﬁqaﬁwﬁﬁqwﬁ@rW@wwaﬁﬁq ;‘
et - 1 et - 11 f
(afer) (WU T 329 ) f
(a) ST R (i) el 1 A GO e hRAT R
) TEATIRA-2 (i) T v e
() SETATE, (iii) TR A @ R
(d) TEATIRA- (iv) @ il % sp-smenfia ferameel &1 Fy
@ ® © @ /
1) @) @) (@v) (i) =
cmens N
@ O & @ oy
95. ﬁw%f@ﬁﬁ@aﬁ?mww%‘?
(1) Wgwaﬁq@ﬁaﬁraﬁwaﬂa&aw%
(2) e Q&M HiTNfeh T § S it 7|
(3) e "R 1990-91 1 ToreRT Hffesh Y& 1 Whel WA & |
) ng%aﬁxwwﬁﬂﬁww&&mﬁww%
96. ﬁ%rr{%rr{raﬁao‘wﬁ'ﬁwwﬁwmﬁ 1 witaferd &t © 2
(1)  =remge feerfa =t foremem (2) HHRIETE hi fa=Rem
(3) T foaRuRY (4) ofede w1 foarem
i
97. freAfatad & Hie T qre Afvash Feram=i i fee & © 2
(1) Y=Ue 4R (TR 919) (2) SIcTaTyg SHaE
(3) & R T (4) SW-yF &
poozss | {EHANIHIMTNAN i
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98. Consider the following statements about arms control :
(a) It's meant to build the security dilemma.
(b) It's a defensive strategy in principle.
(c) It does take a peace without weapons stance.
(d) It aims at mutual security between partners and over stability.
Choose the correct statements from the code given below :
(1) (b), (c) and (d) (2) (b)and (d)
(3) (b)and (c) 4) (@), (c) and (d)
[
99. Which one of the pairs is not correctly matched ? '
(1) Realism - States R B * F
(2) Globalizm - Non state actors . & \ (
(3) Dependency - Economic interestlgf( | . |
(4) Feminism - Gender I,r"'r . I.'
| f
100. Which one of the following pairs is mismatched ? \ {’;
Books == £ Author
(1) The wretched of the earth 4 e Frantz Fanon
(2)  World order . J‘r . Henry Kissinger
(3) Implosion of Capitalis;r_lh - - Samir Amin
(4) Neo-Colonialism : The last stage of Imperialism - Julius Nyerere
{ { -00o0-
‘4
r f
|
: vy
r
A 11T T T
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98. & fra=rmr & e # fFreAfafed el ) s e
(a) sEH! a1 e fgfoen g =01 9 7
(b) fogr: I8 WS FHe A T
(c) I I SReshivl & iR & Wit ki o el § |
(d) &% 9sll & o= IREARer & iR sTfaeenfae w1 @ Il B |
i ST e 4 |\ B! H =TI I : i
(1) (b), (o) 3R (d) 2 (b) 3R (d) L
(3) (b) 3R (o) 4) (@) (o) ¥R () f

99. TN I HE HfAd & © ?

(1) g g 5
(2)  Svefishen wmdert A7
3) fasiean aTfefes fea /
@) i St | /
100. fetferfian & shien 7 et Afed & 2 f”

RESEd « f ! “Eeh
1) TXac AT ad |y . - % HAe
2) IE AKX - . ¥ Rl
(3) SIS 3 hfeieren - FHR oA
(4) PR T« < A VS A sHifEfesn - Jform el

‘4 -00o0-

A

pooss [ HEITNANEAI :

N
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